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B3 —2 BEMICERAT DLBESNOERICEIHEE1/1) _ _ REEE | 28
SERONE [ EmES 03381034 [l | FrAk | PFRTEMD | L TR A AT 235
- SERMO T iRICHEET S ZER N
B8 TREOBBOEILNOKRES TREDHESSLADKES TREOBBOSILEIDOKRES TREOHBSILADKRES
&5 X 4 ;e,r's 'Fﬁ%h\(‘z)@ﬁiﬁé j:(gilzqr:_e)é X 4 Tﬁﬁé\é&;@ ;’i? jn(%qr:_e)é X 4 z.g,;qa; J:ﬁn“ﬁb\(i)d)tt% jn(%qr:_e)é X 4 J:ﬁ%h\(‘z)d)tt% zs,r'n? ﬁ(%cnié
7 100kN/ Mm% 5 — - ~ — — |3mEFBZB| — ~ — — — | 100kN/mM%#8Z% — - ~ — —|3mZiBZ D - ~ — — —
Fhst 100|000 ~ 617 77.47 | FhLS | 000 ~ 617 1.95 9.87 Thst 100 5600 ~ 7.80 77.47 | TS | 500 ~ 7.80| 1.95 9.87
2 100kN/mM%EBZ 5 — - ~ — — |3mEFBZB| — ~ — — — | 100kN/mM%#8Z% — - ~ — —|3mZiBZ D - ~ — — —
Fhst 100|000 ~ 559 69.81 | FhLs | 0.00 ~ 559|202 10.22 zhst 1005600 ~ 720 69.81 | TS | 500 ~ 7.20| 2.02 10.22
3 100kN/mM%EBZ 5 — - ~ — — |3mEFBZB| — ~ — — — | 100kN/mM%#8Z% — - ~ — —|3mZiBZ D - ~ — — —
Fhst 100|000 ~ 622 78.08 | #hLst | 000 ~ 622| 1.97 9.96 Thst 1.00] 5600 ~ 800 78.08 | Tnst | 5,00 ~ 800\ 1.97 9.96
4 100kN/mM%E#BZ5 | 1.00 | 000 ~ 0.74 111.08 |3mZz#BZBH| — ~ — — — | 100kN/m%#z25 | 1.00 | 11.15 ~ 1378 111.08 |3m%EiBZ% - ~ — — —
Fhst 100|074 ~ 853 100.00 | Tns | 000 ~ 853| 2.03 10.26 znsn 1.00 | 6.00 ~ 1115| 100.00| ZnLS | 500 ~ 1378| 2.03 10.26
5 100kN/m%E#8z%| 1.00 | 000 ~ 0.78| 111.67 |3mZE#Bz5| — ~ — — — | 100kN/m%#z25% | 1.00 | 11.00 ~ 1367 111.67 |3m%EiBZ% - ~ — — —
Fhst 1.00078 ~ 857 100.00 | #ns | 000 ~ 857| 2.06 10.56 znsn 1.00| 5,00 ~ 1ro0| 100.00| FnLS | 5,00 ~ 1367 2.05 10.36
P 100kN/m%E#8z%| 1.00 | 0.00 ~ 087\ 11306 |3m&EBz5| — ~ — — — | 100kN/mi%#825 | .00 | 1059 ~ 1328 113.06 |3m%E#z5 - ~ — — —
Fhst 1.00) 087 ~ 866 100.00 | Fns | 000 ~ 866|213 10.78 znsn 1.00 | 5.00 ~ 1059| 100.00| ZnLS | 500 ~ 1328| 2.13 10.78
7 100kN/mM%BZ 5 — - ~ — — |3mEFBZB| — ~ — — — | 100kN/m%#8Z% — - ~ — — |3mZiBZ D - ~ — — —
ZFhst 100|000 ~ 674 85.19 | #0000 ~ 6.74| 1.86 9.38 Thst 1.00] 5600 ~ 838 85.19 | #hst | 500 ~ 838| 1.86 9.58
8 100kN/ Mm% A5 — - ~ — — |3mEBZDH| — ~ — — — | 100kN/mM%E#BZ5 — - ~ — — |3m%EZ 5 - ~ — — —
zhs 100|000 ~ 574 71.77 | FhEAS | 000 ~ 574 | 2.00 10.10 ZhnLst 1.00 | 600 ~ 7.50 71.77 | #nLSY | .00 ~ 7.30 | 2.00 10.10
9 100kN/ Mm% A5 — - ~ — — |3mEBZDH| — ~ — — — | 100kN/mM%E#BZ5 — - ~ — — |3m%EZ 5 - ~ — — —
ThLst 1.00 1 000 ~ 471 5868 | =ns | 000 ~ 4.71| 1.82 919 Fhst 1.00 | .00 ~ 56.00 5868 | =nLs | 5,00 ~ 5.00| 1.82 919
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/mM%E#BZ 5 ~ ImEEZD ~
Ths ~ ZhnLst ~ st ~ Zhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Thst ~ ZhnLst ~ st ~ Zhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/mM%E#BZ 5 ~ ImEEZD ~
Thst ~ ZhnLst ~ ZhnLst ~ Zzhust ~
100kN/ Mm% A5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Thst ~ ZhnLst ~ ZhnLst ~ Zzhust ~
100kN/ Mm% A5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Zzhst ~ st ~ ZhnLst ~ Zhust ~




